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+2 LTH N QUTEHISHCHT6] / MODEL PUBLIC EXAMINATION MAY - 2022
UGS H(2-ulirfl-efleum S wev)/ PART — I (BIO-ZOOLOGY)
(LB LIQ LI6wOTSS 61T: 35) / (Marks : 35)
9 ley -1/ SECTION - |
GMLIL: (i) S|6m6tTs 51 6560TTH & @58 G0 aflemLwerfl&gmalh. 8 X1 =8
(i) @ &sLILL G 6TeT mmH o aflenLgerfley WE&sa b gL enL aflenLemws
CsIHes0S58 GO HIL6T eflenL 6o gis.
Note : (i) Answer all the questions.
(ii) Choose the most appropriate answer from the given four alternatives and write the option code and
the corresponding answer.
FammI(A): b Q&6 e ILIGH UL &ECTTCHFTID LDMHMILD eMLNGCLTE 60T LIl 245 Wi el

SMeooT LILIHSH M. K
STFevorid (R): SHCITCHFTLleL emnL GL TS & 6uorL_ T H([HES eaulg.eiley a@%&m@.
) A lnMHmILD R 2_eootemILn, R eTedTLIG A ulledT Fiflulmest eflemgasLnMEGLD. Q

<) A LDMHMID R 2_660or6mLD, R eTedrLIG A ufledr & iflwimeor Qﬁ]méaasLdlebemm\\.'v

@) A 2_eooTen LD, R H6Um! FF) A LDMMILD R@UW@@@

Assertion(A): Head of sperm consists of Acrosome and mitoci%;ia

Reason(R): Acrosome contains spirally arranged mitochondria called nebenken.

a) Aand R are true, R explain A b) A a.% r.e')true, R does not explain A
c) Alis true, Ris false d) *A & R are false

F LGS alMmenm QUITHSSH & iflulmeor aﬁ]eml_g,@\g,rr@umu CHIBASM.

A) sy Qeeflail@ IUD - % 1) LNG 20

B) ammiGLomer Qeueflef® 1UD © i) 696y euemerw IUD

Q) LDBBHH V6V IUD x?y i) #FTOamed

D) LDIT& 5 60) I 5561 - iv) multiload 375

9) A-ii, B-iii, C -iv, D-i

2
Match and select the &?option.
A) Copper releasin@(%

B) Hormone rele. g IuD - ii) Lippes loop IUD

C) Non mgg&gd IUD - iii) Saheli
D) Mi S - iv) Multiload375
a) A-ii, B-iii, C -iv, D-i b) A-iv, B-iii, C -ii, D-i ¢) A-iv, B-i, C -ii, D-iii d) A-ii, B-iv, C -iv, D-iii

iy, B-iii, C -ii, D-i @) A-iv, B-i, C -ii, D-iii FF) A-ii, B-iv, C -iv, D-iii

- i) LNG — 20

R0 @S LD anrily afearaLys Fmpleuuiev 6Tl ICLMS @) H&HHTSI?
3)) Hled rmmLh §6evTs Bleneuuiley

3l) AVENFBLIMTEHE @ 6V6VTS Blemeuuiley

@) QTS LSS 6T Si6Te] QUIISTE @ BHS TV

) 2 Wiifleormigser CHTeQF g Seveilulley FHILIGID GUMSL.

A population will not exist in Hardy — Weinberg equilibrium if

a) individuals mate selectively b) there are no mutation

c) there is no migration d) the population is very large

QUL FTEM6VEETTI6V 6THHEOTITEL 2 MLIGH &G LIUITLI(RILD G LIMTSI6UTET &L LITIHeT
3) GFMWIT LOM6Y 31) Blev& &L 6060

@) &EOLT6E &6y FF) GFITEIT 2_600T6)

The most common substrate used in distilleries for the production of ethanol is_
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14.
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a) soya meal b) ground gram c) molasses d) corn meal

@ eraredl6r @)\ (H FmIG N SGeflaD 61856 SLEIGeTT 2 LS6LBILET ) LD[HSI6TETeoT?

) A FrRIG60 12, B FhEIG60 13 1) A gm0 21, B &m&Hed 30

@) A emGH6d 12, B gmded 30 ) A FmISed 12, B sm&ed 20

How many amino acids are arranged in two chains of insulin?

a) A chain 12, B chain 13 b) A chain 21, B chain 30

¢) A chain 12, B chain 21 d) A chain 21, B chain 13
GaulemL WM Sev LnMmILD 6L (Hl6voTeool| 6UMLDEHENS (L6 eTelalend 2 Ulifleors &miyL?
) (+, +) ) (+,0) Q) - -) (+, -)

Predation and parasitism are which type of interactions? Q .0
a) (+, +) b) (+,0) ) (--) d) +, -~
amPL Erdilelermev WW&seab LUTHLILSG6TeTTSH lujlb Blevulley 2 eiTem fleoTLd
) LIMeITL1q &5 6T ) LIM6Em6U 6T @) @ BeuUTLDeN & 56T 'MI'_QQHG\S]EEQ'T
Which one of the following is high risk extinction due to habitat de \c%n?

a) Mammals b) Birds ¢) Amphibian d) Echinoderms

FLpG& LML 6TS 2 _core)| & & miG 60l erfler oar” L 866)@)55667@1 &HLHGLD CUME! TIGUMTSILD

&6 & F) dTM 60T ? @

3) 6T6U0TE00 1 85605 1) CauBLIQLIMBET @%ﬁm@ F) ellen g

Which among the following always decreases irba\ feod chain across trophic levels?

a) Number b) Accumulated h(%):als ¢) Energy d) Force
%m -2/ SECTION - 2

GSUILIL: FCHILD HTeTE 6fleor '%@55’:@ LL@EW efenLwefl&HayLD. 4X2=8

Note : Answer any four o@llowing questions
2 b sevhS B aubBE&EMIY BT Bleneusertley &evliLiGme BT GLDBlemey 6L VSR 6L LIRS SILD

el 6m6IT6Y S 6T WITED %
What effect can@er runoff has an aquatic ecosystem?

GUITLDITT & LU L LieooTL| G ITLLIML_LY.60)60T &H6UGQ M 60T BlemLGS S eUT WITF? eTeleummi?
Who disproyed Lamarck’s theory of acquired characters? How?

5@&@&@1&5&% 6TEOTMITEV 6TEOTEOT? 2| &H60T QUM S GG WLITE6U?

What are vaccines? Write its types.

2 UNT T T QUITIHET — euem FUmI.

Define antibiotics.

6016011 @) 6TLIQLIHESLD 6T60TMITEV 6T60T60T? @) ([ TS SIHEHTL (D H6T &(H5.

What is parthenogenesis? Give two examples.

SLIT.6TEOT. ¢f. DMMILD 19.6T60T.6] FH WaUDHMISGEH L G 2_6Tem emoLIL] FMFTHS CeumiLmH ST

epesrnilementds GMILILN (B 5.
Write the structural difference between RNA and DNA.
L9ley - 3 / SECTION - 3

SMILIL: gBSHemILD en6iTm N6t TS5 EHEE L (KD ellenLweflé&&sa L.

eoTT 6Tevor 19 — 6@ SLLTWINMS eflemLweflé&sa L.
Note : Answer any THREE of the following questions.

Question number 19 is compulsory
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@@ 2 uflulléh yLsD G FnF eLn6ud @)UIEVLITEIT O[T LIS & 86M6T eUPMHIG) L0FLIwey

GenpuTh seneTev FflQsFuiw ellemeT®erTmenrd. @ eormev 2 uNfluler QFweLTH&6T WL
QUDLILIH& EBTMET. @FHMES LTMHMTSH L6 2 MHLIGI| e QLITIHETTET QBITIY LDTHM &R &Fans
wenm eLpeud 2 uilflufer QFweLImTH&6T WeTll QuMLILIB S eTmeor. GLmE&GMILILI L L @ revor(h
Wenmaefley eTal FMHH S 6T6oTs: &HHSHIR M ? HHIG6T &([HSH) M TET & ITJ600T hl&Hem6Td @& UL LaLD.
Gene therapy is an attempt to correct a genetic defect by providing a normal gene into the individuals. By
this the function can be retrieved. An alternate method would be to provide gene product known as enzyme
replacement therapy, which would also restore the function. In your opinion which one is better option? Give

reason for your answer.

6L (hl6voT600f | GUTLDGHEM S GTEOTMITEV 6T60T60T? 6T(H & B S8 TL_(H 60T al6Ts: & . i)
Explain parasitism with example. \QQ
L6V 2 6T LnMMILD GGLpev Qauerfl LIMEZIGTUmL CaumLB S SIS Q
Differentiate insitu and exsitu conservation. -\-"

GHens Caleor(hd SUSWlev yevor ellbal BTGNS &mu@\%&mm @ WeuTLney GLIMeTTGeIT
Ivevgl 1N& Gemmbs ellbg Q&6 Q&ML BInGemns 2 QFWSTCIT SSIDLISWIT
GBS QUMHMIGQSTETET 6T menwl LK bgeny Qacumj"u

Which method would you suggest a couple to have a ba% he male partner fails to inseminate or low
sperm count in the ejaculate?

GaumiLIL L @6TEFQ&F6U LMV ﬂgemug)@m@%@gpg) @ ETFQFEV LIMeV BlFevor L SH MG @) e Cul

2 66T CeumILIM(H &HE06T 6T(LD SIS,

Distinguish between heterogametic and@?b.gametic sex determination.

71 9ley - 4/ SECTION - 4

G@MILIL: KetaumLd eNleormss aflemLwerflesaLn. 2X5=10
Note : Answer the foll%)n questions

) (NSET (LPSEVIT QUITEOT LD LIS QLITIHEIT 21J.6T60T.67.5 MedT eTedr BlemLN G &Ll Gl6Teng —
asrrUGUUrrmas@LQde]asas

. 36V6V S
) @%&@n@@mnue&dﬂ SlemllemL LILLD euemTH & 6ellemd: @& ss.
A) It is established that RNA as the first genetic material. Justify with giving reason.
OR
B) Draw and explain the structure of immunoglobulin.
3) i) H6voT()) QFEVSET 6T6OTLIGT WITem6U? LD(hSSIeUSIem MU DH60T LiIiends eXl6ms: & s%.
i) H600T()) QF LG 66T 6L SSHENET CoaumILI( S S!5.
2{6V6V 3!
1) i) 6T QF6vedletT BieminlienLl H&HS LILSSIL 60T afleurfl.
i) B el G5 6T (NERWSSIaGNS GSMLILNGH &5
A) (i) What are stem cells? Explain its role in the field of medicine.
(ii) Differentiate somatic and germ line gene therapy.
OR
B) (i) Explain the structure of human ovum with a labeled diagram.

(ii) Mention the importance of positions of the testes in human.
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